Group 1

Electronic Configurations for the First Eighteen Chemical Elements — Hydrogen to Argon
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Protons = 3 Protons = 4 Protons =5 Protons = 6 Protons =7 Protons = 8 Protons =9 Protons = 10
Electrons = 3 Electrons = 4 Electrons =5 Electrons = 6 Electrons =7 Electrons = 8 Electrons = 9 Electrons = 10
Neutrons = 4 Neutrons = 5 Neutrons = 6 Neutrons = 6 Neutrons = 7 Neutrons = 8 Neutrons = 10 Neutrons = 10
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Sodium Magnesium Aluminium Silicon Phosphorus Sulfur Chlorine Argon
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Protons = 11 Protons = 12 Protons = 13 Protons = 14 Protons = 15 Protons = 16 Protons = 17 Protons = 18
Electrons = 11 Electrons = 12 Electrons = 13 Electrons = 14 Electrons = 15 Electrons = 16 Electrons = 17 Electrons = 18
Neutrons = 12 Neutrons = 12 Neutrons = 14 Neutrons = 14 Neutrons = 16 Neutrons = 16 Neutrons = 18 or 20 Neutrons = 22

*Note: The number of electrons in the valence shell of an atom equals the units value of the element’s Group number. e.g. S in Group 16 has 6 valence electrons.




